
We said that the rotation operator
RCÑ ) = exp C- iÑ¥ )

i.e angular momentum is the generator

of rotations _ Let's try to justify it
a bit better
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In terms of wavefunctions X
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If you are not convinced of this , think
in terms of probability densities _ You

.

rotate the system ,
but the probability

density at the new position must be the

same as it was at the old position, thus
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This is the new wavefunction !

Now consider rotation around z by A
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The new wavefunction is
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Expand in Taylor series
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For smell rotation by I around 2-- axis _

We had that for rotation by & around
2- axis

Rca) = exp tiA¥)
and for smell A
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